Subject: Math Created by: Lawrence Shang Revised: 07/09/2018







$$\lim_{x \to \infty} \left[\frac{\frac{1}{2} (x^2 + 1)^{\frac{-1}{2}} (2x)}{1} \right] \quad \lim_{x \to \infty} \left[\frac{x}{(x^2 + 1)^{\frac{1}{2}}} \right] \qquad \frac{\infty}{\infty}$$



$$\lim_{x\to 0^+} [x^x] \qquad \qquad 0^0$$

$$y \quad x^{x}$$

$$ln(y) = ln(x^{x})$$

$$ln(y) = x ln(x)$$

$$\lim_{t\to\infty} |(m(v)) \pi_{t}|^{2} m_{t^{-2}} dx dy(x) dy$$

$$\lim_{x\to 0^+}[x\ln(x)]=0$$

$$\lim_{x\to 0^+}[\ln(x)]=0$$

$$\lim_{x\to 0^+}[e^{\ln(y)}]=e^0$$

$$\lim_{x\to 0^+}[y]$$

$$y x^x$$

$$\lim_{x\to 0^+} [x^x]$$

